You are in charge of determining production for Marburgeria.  You have four hours available for the production of jars of peanut butter and jars of jelly.  Your workers are capable of producing 6 jars of peanut butter per hour or 2 jars of jelly per hour.  The first step in determining how to best allocate your time is to lay out your production possibilities information.
Time spent		Jars of			Time spent	Jars of 
on peanut butter	peanut butter		on jelly	jelly

0 hours						4 hours

1 hour						3 hours

2 hours						2 hours

3 hours						1 hour

4 hours						0 hours


Having laid out the available possibilities, your next step is to figure out the optimal production of these two goods.  The people of Marburgeria like to eat peanut butter sandwiches and they like to eat jelly sandwiches, but they really like to eat peanut butter and jelly sandwiches.  

To figure out the best allocation of your 4 hours, credit 4 points for each peanut butter/jelly combination and 1 point for each leftover jar of peanut butter or jar of jelly.

Time spent		Jars of			Time spent	Jars of 	Total
on peanut butter	peanut butter		on jelly	jelly		Points

0 hours						4 hours

1 hour						3 hours

2 hours						2 hours

3 hours						1 hour

4 hours						0 hours

Indicate the optimal allocation of time: _________

Indicate the total points that corresponds to this production level: _______



	


You are in charge of determining production for St. Steelersburg.  You have four hours available for the production of jars of peanut butter and jars of jelly.  Your workers are capable of producing 1 jar of peanut butter per hour or 1 jar of jelly per hour.  The first step in determining how to best allocate your time is to lay out your production possibilities information.
Time spent		Jars of			Time spent	Jars of 
on peanut butter	peanut butter		on jelly	jelly

0 hours						4 hours

1 hour						3 hours

2 hours						2 hours

3 hours						1 hour

4 hours						0 hours


Having laid out the available possibilities, your next step is to figure out the optimal production of these two goods.  The people of St. Steelersburg like to eat peanut butter sandwiches and they like to eat jelly sandwiches, but they really like to eat peanut butter and jelly sandwiches.  

To figure out the best allocation of your 4 hours, credit 4 points for each peanut butter/jelly combination and 1 point for each leftover jar of peanut butter or jar of jelly.

Time spent		Jars of			Time spent	Jars of 	Total
on peanut butter	peanut butter		on jelly	jelly		Points

0 hours						4 hours

1 hour						3 hours

2 hours						2 hours

3 hours						1 hour

4 hours						0 hours

Indicate the optimal allocation of time: _________

Indicate the total points that corresponds to this production level: _______








	FINAL CONTRACT

OPTION A:

The countries of Marburgeria and St. Steelersburg were unable to identify a trade that would be mutually beneficial.  Consequently, each country has decided to remain self-sufficient.  The below terms show the production allocation of both countries and the standard of living (total points) enjoyed by its residents.

MARBURGERIA

Total production of peanut butter: _______
Total production of jelly: ________

Standard of living (total points):
Number of peanut butter 
and jelly sandwiches consumed: 	______ 
______ (point value)						
Number of leftover peanut 
butter sandwiches consumed:		______
______ (point value)

Number of leftover jelly
sandwiches consumed:		______
______ (point value)

Total standard of living:		_______ (Total point value)

ST. STEELERSBURG

Total production of peanut butter: _______
Total production of jelly: ________

Standard of living (total points):
Number of peanut butter 
and jelly sandwiches consumed: 	______ 
______ (point value)						
Number of leftover peanut 
butter sandwiches consumed:		______
______ (point value)

Number of leftover jelly
sandwiches consumed:		______
______ (point value)

Total standard of living:		_______ (Total point value)

	FINAL CONTRACT

OPTION B:

The countries of Marburgeria and St. Steelersburg have agreed to abide by the contract terms described below:

Marburgeria will produce _______ jars of peanut butter and  _______ jars of jelly in its four hours.

St. Steelersburg will produce _______ jars of peanut butter and  _______ jars of jelly in its four hours.

Marburgeria agrees to trade _______ jars of ________________ in exchange for ________ jars of _______________ from St. Steelersburg.

The below table indicates the standard of living to be enjoyed by each country after the exchange has been completed:

MARBURGERIA
Standard of living (total points):
Number of peanut butter 
and jelly sandwiches consumed: 	______ 
______ (point value)						
Number of leftover peanut 
butter sandwiches consumed:		______
______ (point value)

Number of leftover jelly
sandwiches consumed:		______
______ (point value)

Total standard of living:		_______ (Total point value)

ST. STEELERSBURG
Standard of living (total points):
Number of peanut butter 
and jelly sandwiches consumed: 	______ 
______ (point value)						
Number of leftover peanut 
butter sandwiches consumed:		______
______ (point value)

Number of leftover jelly
sandwiches consumed:		______
______ (point value)

Total standard of living:		_______ (Total point value)

EXERCISE II

Now that you understand the role of comparative advantage in trade, lets see if you can put the concept to use.

In one hours time, Marburgeria is capable of producing either 2 jars of jelly or 1 jar of peanut butter.

Identify the production possibilities for Marburgeria below.  Again, recalling that 4 points is assigned for each peanut butter and jelly sandwich, and 1 point is assigned for each leftover peanut butter sandwich and each leftover jelly sandwich, fill in the points associated with each combination.

Time spent		Jars of			Time spent	Jars of 	Total
on peanut butter	peanut butter		on jelly	jelly		points

0 hours						4 hours

1 hour						3 hours

2 hours						2 hours

3 hours						1 hour

4 hours						0 hours

Acting as a self-sufficient country, how should Marburgeria allocate its time?  (Circle the optimal allocation).























In one hours time, St. Steelersburg is capable of producing either 4 jars of jelly or 1 jar of peanut butter.

Identify the production possibilities for St. Steelersburg below.  Again, recalling that 4 points is assigned for each peanut butter and jelly sandwich, and 1 point is assigned for each leftover peanut butter sandwich and each leftover jelly sandwich, fill in the points associated with each combination.

Time spent		Jars of			Time spent	Jars of 	Total
on peanut butter	peanut butter		on jelly	jelly		points

0 hours						4 hours

1 hour						3 hours

2 hours						2 hours

3 hours						1 hour

4 hours						0 hours

Acting as a self-sufficient country, how should St. Steelersburg allocate its time?  (Circle the optimal allocation).

In Marburgeria, what is the opportunity cost of producing 1 jar of peanut butter? ________

In St. Steelersburg, what is the opportunity cost of producing 1 jar of peanut butter? _______

Which country has the comparative advantage in peanut butter? _____________________

What terms of trade will allow both countries to be better off by trading than by being self-sufficient?   

Terms of Trade

____________________ should produce _____ jars of peanut butter.   ____________________

should produce _______ jars of jelly.    ________________ will exchange ______ jars of jelly for each jar of peanut butter it wishes to obtain from _____________________.  
In total, ____________________ will trade _____ jars of jelly to ____________________ for _____ jars of peanut butter.

How many total points will Marburgeria obtain from the sandwiches it consumes? _______
How many total points will St. Steelersburg obtain from the sandwiches it consumes? _______
